Finding P-values TI-84 Instructions

Right Tailed t-test:
1) Calculate t_calc (t_test)

2) 2" DISTR

3) Scroll down to tcdf(

4) ENTER

5) Now enter: t_calc, 1000, df)
6) ENTER

7) Output is the P-value

Right Tailed z-test:

1) Calculate z_calc (z_test)

2) 2" DISTR

3) Scroll down to normalcdf(

4) ENTER

5) Now enter: z_calc, 1000, 0,1)
6) ENTER

7) Output is the P-value

Left Tailed t-test:

1) Calculate t_calc (t_test)

2) 2" DISTR

3) Scroll down to tcdf(

4) ENTER

5) Now enter: -1000, t_calc, df)
6) ENTER

7) Output is the P-value

Left Tailed z-test:

1) Calculate z_calc (z_test)

2) 2" DISTR

3) Scroll down to normalcdf(

4) ENTER

5) Now enter: -1000, z_calc, 0,1)
6) ENTER

7) Output is the P-value

Two Tailed (non-directional) t-test:
1) Calculate t_calc (t_test)

2) Find the absolute value of t_calc
3) 2" DISTR

4) Scroll down to tcdf(

5) ENTER

6) Now enter: |t_calc|, 1000, df)

7) ENTER

8) Output is ¥z of the P-value so

9) Multiply result by 2

Two Tailed (non-directional) z-test:
1) Calculate z_calc (z_test)

2) Find the absolute value of z_calc
3) 2" DISTR

4) Scroll down to normalcdf(

5) ENTER

6) Now enter: |z_calc|, 1000, 0,1)

7) ENTER

8) Output is ¥ of the P-value so

9) Multiply result by 2

Right Tailed F-test (ANOVA):

1) Calculate F_calc (F_test)

2) 2" DISTR

3) Scroll down to Fcdf(

4) ENTER

5) Now enter: F_calc, 1000, df,um, dfgen)
df,um = numerator degrees of freedom
df4en = denominator degrees of freedom

6) ENTER

7) Output is the P-value

Right Tailed x’-test:

1) Calculate x? calc (x> _test)

2) 2" DISTR

3) Scroll down to x?cdf(

4) ENTER

5) Now enter: X°_calc, 1000, df)
6) ENTER

7) Output is the P-value
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